1.1 Recharge It day 1 - B7.notebook August 27, 2015

Questions on Disclosure?
You will be having your first content
mastery quiz on your disclosure, so get it

out and reviewl!

Feb 27-8:47 AM
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Content Mastery
Quiz: Disclosure

Feb 19-2:36 PM
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What are some things effective
groups do to solve a problem?

Work on a task? 0
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**Grab a package of SM3 books from the
smaller ledge in front of the windows,
take out a volume one and tear out ALL of
chapter 1 (pages 1-46); they will tear
easily if you grab all the pages at once.

Aug 27-8:43 AM
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Recharge It!

PAGE 4 OF STUDENT TEXT ‘ :-J .?
.ec. X

PROELEM (] Low Battery 4 \

[4 7 \
Recall that a discrete graph is a graph of isolated points and a continuous graph is a grask
of points that are connected by a line or smooth curve on the graph. Data can also be
discrete or continuous.

Discrete data are data whose possible values are countable and often finite. The scores of
baseball games are exam Ies of -rcrete data, use a team’s sxlre must be a positive

whole number or zero. (m' OV\S &QC( md\

Continuous data are data which can take any numerical value within a range. Heights of
students, times required to complete a test, and distances b n cities are examples of

contnuous cete 6, £Y0CRONG [decinals) 4 (messiarement)
Suppose that two cell phone companies, E-Phone and Unlimited, claim that the cell phones
E of two of their comparable models have a mean battery life of 10 hours.

1. Are the durations of the cell phone batteries examples of discrete data or
continuous data? Explain your reasoning.

Conhinuols, we con have ?afhou\ howrg
tor The bﬁﬁé"\(j \\{:Q

2. If the mean battery life is 10 hours, does that indicate that all of E-Phone’s phones and
all of Unlimited’s phones have a 10-hour battery life? Explain your reasoning.

No . .

Aug 24-1:41 PM
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PAGE 5 OF STUDENT TEXT

One way to display continuous data is by using a
relative frequency table. The relative frequency tables
shown display the battery lives of a sample of

100 E-Phone cell phones and 100 Unlimited cell phones.

Recall that

is the
vatio of occurrences within an

interval to the total wumber of
DECLLFFEnCES,

A sample is a subset of data selected from a population.
A population represents all the possible data that are of

interest in a study or survey.

The battery lives are divided into intervals. Each interval
includes the first value but does not include the % S
value. For example, the interval 8.0-8.5 includes phones

0<&
with battery lives greater than or equal to 8 hours and % S - qy or
less than 8.5 hours. /
/| - q
RS £Lxe9.0

PoPulay;
Tion

Aug 24-1:51 PM
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NOT IN YOUR BOOK, COPY PROBLEM INTO NOTES

1. Two hundrad runners completad the annual Burgoo Festival 5K race.
a. The table displays the race times for the 200 runners. Complete the table by determining the
ralative frequency for each interval of raps times.

e
T:::JET MNumber of Runners Relative Frequency
14-18 i 7 /'203 O 5-
lig-22 28 =O lq.
2225 85 O '52_%
26-20 71 0. ’556
0-34 24 o |‘ Z
34-38 r 5 O OL
X-oxis Y-xx<cis
(& b. Craate a relative frequency histogram to represent the race times of the 200 runners.
\ ")
03T |
Q.24
OOI e |
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Aug 24-1:53 PM
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PAGE 9 OF STUDENT TEXT

As the sample size continues to increase and the interval size continues to decrease,
G the shape of each relative frequency histogram will likely start to resemble a normal curve.
A normal curve is a bell-shaped curve that is symmetric about the mean of the data.
A normal curve models a theoretical data set that is said to have a
normal distribution.

The vertical
axis for a graph of a
normal curve represents
velative frequency, buct norwal
curves are often displayed
without a vertical axis,

The normal curves for the E-Phone and Unlimited cell phone battery
lives are shown. In order to display normal curves for each data set,
different intervals were used on the horizontal axis in each graph.

g Unlimited
85 8.0 9.5 100105 11.0 115 88 92 9.6 10.010.410.811.2

Although normal curves can be narrow or wide, all normal curves are symmetrical about the
mean of the data.

Mormal Distributions Mot Mormal Distributions

b A
e A

Ay

Aug 24-1:54 PM
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¢. Does the distribution of the race time data appear to be a normal distribution? Explain
your reasoning.

PAGE 10 OF STUDENT TEXT

G You already know a lot about the mean. With normal

curves, the mean of a population is represented with the The symbol

symbol .. The mean of a sample is represanted with the for wmean, p, is

symbol X. The standard deviation of data is a measure of spelled.m:-. ond, »
pronounced. “wyoo.

how spread out the data are from the mean. The symbol
used for the standard deviation of a population is the
sigma symbol (). The standard deviation of a sample is
represented with the variable s. When interpreting the
standard deviation of data:

# A lower standard deviation represents data that are
more tightly clustered near the mean.

# A higher standard deviation represents data that are "-._'*.’ '
more spread out from the mean. ﬁ G

Aug 24-1:56 PM
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NOT IN YOUR BOOK, COPY PROBLEM INTO NOTES

2. Wildlifa biologists recorded the weights of grizzly bears in 2 different populations. The normal curves
represaent the weights of the bears in Population A and the weights of bears in Population B.

Population &

Population B

W

Wiight of Bears

a. Which population has the greater mean weight? Explain your reasoning.

b. Which population has the greater standard deviation? Explain your reasoning.

¢. Explain what the difference in the standard deviations means in terms of the problem situation.

Aug 24-1:56 PM
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d. Two years after the original data was recorded, the biclogists recorded the weights of the bears

in Population A again. The mean weight had increased by 5 pounds, but the standard deviaticn

remained the same. Explain what the difference in the new data and the original data means in
terms of the problem situation.

&. Two years after the original data was recorded, the biclogists recorded the weights of the baars in
Population B again. The mean weight was the same, but the standard deviation had decreasad.

Explain what the difference in the new data and the original data means in terms of the
problem situation.

Aug 24-1:59 PM
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Homework

Finish pages 3-11 in student text

Aug 24-2:00 PM

12
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